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Sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative out of the four and indicate it by
blackening the appropriate oval in the answer-
sheet.

That hardly counts,
does it? (b)
doit? (d)

doesn't it?
don't it?

In the following question, some part of the
sentence may have errors. Find out which part of
the sentence has an error and select the appropriate
option. If a sentence is free from error, select ‘No
Error'.

The call of the seas (A)/ have always (B)/ found an
echo in me. (C)/ No error (D)

A (b) B

C (d D

In the following questions, choose the word
opposite in meaning to the given word.

Portrayal

rendering (b)  original
delineation (d)  sketch

out of the four alternatives, choose the one
which best expresses the meaning of the given
word and mark it in the Answer Sheet.

Onslaught
Counterattack (b)  Resistance
Defense (d) Invasion

In the following question, four words are given, out
of which only one word is incorrectly spelt. Find the
incorrectly spelt word.

physique (b)  quizzical
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22.
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23.

(a)

(@]

collaborator (d) quotidiean

In the following question, a sentence has been
given in Active/Passive Voice. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Passive/Active
Voice.
It is high time to play cricket.

It was high time that  (b)
cricket was played.

It is time high that tea (d)
should be taken.

It is time high for
cricket to be played.

It is time high that tea
had been taken.

In the following questions, a sentence / a part of the
sentence is bold. Below are given alternatives to the
bold part which may improve the sentence. Choose
the correct alternative. In case no improvement is
required, choose "No Improvement” option.

He absented from the meeting.

Were absent (b)  Absented himself
Took absence (d)  No improvement

In the following question, a sentence has been
given in Direct/Indirect speech. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct
speech.

My uncle said, "I will be here again tomorrow."

My uncle said that he  (b)
would be here again
the next day.

My uncle said that he  (d)
would be here again

My uncle said that |
will be here again
tomorrow.

My uncle said that he
would be there again

26.

(a)

28.

(a)

(@]

29.

Directions: Select the option that is nearest in
meaning to the underlined word and mark the
correct answer accordingly.

The researchers turned up no
credible evaluations at all.

Elimination (b)  Assessment

Regulation (d) Segregation

Direction: In this question, select the word that is
most opposite in meaning to the word given in
capital letters.

Opaque
Vague (b)  Firm
Transparent (d)  Poor

Direction: Choose the best alternative which best
expresses the meaning of the idiom/phrase.
The clock is ticking

A clock that shows (b)
actual time

A regular short, sharp
sound, especially that
made by a clock or
watch

Used to say that there (d)
is not much time left

to do something

Something going to
happen bad

Select the most appropriate meaning of the given
idiom.

Bury the hatchet

dig a grave (b)  hide a treasure

forget past quarrels (d) sow the seeds

Direction: Select the misspelt word.

tomorrow. the next day. (a) Escalate (b) Strategic
24. Select the option that will improve the underlined () Campaign () Chellange
part of the gth:n se.ntence. In case |m!)r0\{lement Is 31. m Fq a9 & tr&-ﬁ EﬁTITU'IT T I tr&ﬁ %7
needed, select "No improvement required”. . . sy .
X Which of the following bird is the state bird of
Although world war two is over, the consequence of ”
one of the world's deadliest battle has only just Haryana? .
begun. (a) TURME ®ITd Asian (b) i SN Black Dongo
(@ the consequence of (b)  the consequence of Cuckoo
one of the world's one of the world's (9 MR AR Indian (@) w3 . o Black
deadliest battle had deadliest battles Peacock Francolin
() the consequence's of (d) No @provement 32, mﬁﬁﬁqﬁmmmﬁg@ﬁ
one of the world's required Eg i
deadliest battle c L . .
Which of the following princely states was attached
?
25. Select the most appropriate meaning of the given to Western Haryana? ]
idiom. (@) YT Nabha (b) IBTR Bikaner
cost an arm and a leg (0 SIY Jaipur (d) Ufedret Patiala
(@) very expensive (b)  Prepared for battle : 3 R ~ 3
(© In ;ydez insensible (d) ReaF::i for scrutin 33. 1 fi i s
o P y y 31 B 7 Fora gk W W 22
P Bhiwani district of Haryana is the largest producer
of mustard. Which district ranks second?
(a) A Karnal (b) BdD Rohtak
Mob. - 7737404085, 8209244090 Page 3
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34.

(a)
(@]

BAGIETE Faridabad (d) II%W Mahendragarh
givaron # ugelt aR wgufa A g fRurmayr §

TN T Y1?
In which assembly was the President’s rule imposed
for the first time in Haryana?

Tgdl First (b) G Second

TR third (d) T fourth

The traditional jewelery ‘Ramjhol’ is related to?
PSR hard (b) T cheeky

U Payal (d) %TF-lTFﬂ Hiranami
FIATUN 1 ISy @9 DI A1 82

Which is the state sport of Haryana?

FHaS! Kabaddi (b) Teald Football
CINIEI] Volleyball (d) W Wrestling

1857 §. ¥ 59 faraa & Rra gl 3 R &1

GHEGHEIKH
In 1857 AD, the Sikh rulers of which princely state
helped the British?

ATHT Nabha (b)  PIHM Kustanga
SHTR Bikaner (d) AR Jaipur

AT GGl & Siaiid fradt Bt # oI @2
What is cultivated under horticulture crops?
Wd Fruit (b) ool Vegetable
Tl flowers (d) I g4t all of them

faemuT gA19 ¥ <R gieamom 139 giamon
Jprade givamm gu st

Haryana 13 th during the state assembly elections
............. Haryana Accountant Haryana Group D

ay 2013 Year 2013 (b) I 2014 Year 2014

Tu 2015 year 2015 (d) a9 2016 year 2016
fram= &=t 1| @ =8t d@fen

A. ITeNER 1. 989 4 P fAfr 1€ &1 R
H & fog

B. Tf&an 2. afi® FaR &1 F fag
C. THEY 3. Yl HUS P YW B Bierdl & g & forg
D. T 4. I Pt TR HeTs HUST
P1S ABCDABCD
Match List | (Name) List Il (Method)
A. corrugated 1. Badej method of preparation
covering the dye
B. maudia 2. fine covering
C. Gumti 3. To cover cotton cloth with silk buds
D. Bol 4. Silk banded embroidered cloth
code ABCDABCD

1234 (b)
4123 (d)

4321
4132

41.

(a)

42.

(@]

43.

(@]

44,

(a)

45.

(a)
(@]

46.

Y IR IS UBd US | Wl @ IUH ©U F
UG ¥ Heftd ug o1 gA1d B |

gmaﬂ‘q &7 : RS = Ffa:?

Just like the second term is related to the first term,
choose the post corresponding to the third term.
Magnetic field: ostend :: power:?

e Liter (b) e meter
dic Watt (d) dIee Volt

gfe fHdt euTwT H, LIQUID ST PMUYMH foraT Sirar
g d S Feurwr A SPACE #t fFa , R & foran

If in a code language, LIQUID is written as
PMUYMH, then how will SPACE be written in that
code language?

WTBGI (b)
TEGIW (d)

WTEGI
WEIGH

Tf¢ code = 6241, made = 5346, come = 3124 3R to
= 27 dY dome = ?

If code = 6241, made = 5346, come = 3124 and to
= 27 then dome =?

6134 (b) 5214

6124 (d) 2634
39 49T § UHiE (2) & RIM WR 31+ 1671 Ug 91d
i

N-100,K-81,2,E-49,B-36
Find the term in place of the question mark (?) In
this series.

N-100,K-81,?,E-49,B-36
T-120 (b)
H-64 (d)

frufafed SFeR! &1 U iR 39 YR W & usl
FIW I

(i) 'F -D' BT Udad 'F, D & Rar g

(ii) 'F+D' HTUIAS 'F, D P 3

(iii) 'F'+D’ T HAWS 'F, D HTICT &'

(iv) 'Fx D' T UGAd 'F, D &1 Uail &'
fFafafea ¥ A fPasTaaaa e fF z, v & e 2
Read the following information and answer the
questions based on it.

(i) 'F — D' means' F is the father of D *

(ii) 'F+D' means' F is the daughter of D

(iii) 'F'+D' Means' F is the son of D'

(iv) 'Fx D' means' F is the wife of D '

Which of the following would mean that Z is the
father of Y?

Y-ExZ (b)
Y+E-Z (d)

U-46
B-64

Y+E+Z
Y+ExZ

gfg ‘A’ 3R \‘rﬁ's'a?f%l'q 'B' &R - UCHI' 'C' &R
YT & T ud ‘D’ S&R - N & fAU gt a9 (7 D 3)
B6AS5 (20 C 20)? HT HIH SRT&R §HIT?

If ‘A’ letter - for addition, 'B' letter - subtract "' C
‘letter for' division ‘and’ D ‘letter - for

Mob. - 7737404085, 8209244090
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48.

(a)
(@]

49.

multiplication then (7 D 3) B6A5 (20 C 20)? The
value of will be equal to?

0 (b) 10
22 d) 20
g wrsg) & fore e Suged 9 R -

HTA AP SN, T, I

Choose the most appropriate Venn diagram for the

following words-

Carrier, truck, van
(b)
(d)

©o
O O

O
&1 Uy I fa ®1 T § i S empfaai A A T
| Siq: =i fosar wan 31
98 SR NP fa Hi= <+t 32
U9 ITHf:

/5

I IATH

D ARSI

A B C D
The given question figure is embedded in one of the
answer figures given below.
What is that answer figure?

D b) B
C @ A
Frafafea srepfa $1 gdu sfa T

Select the mirror image of the following figure:
M

HEN R

A B C D

C
B d A

fdw fir @ syE @ 9@ AT Wo € 9
Hd: A da) @ e gdid 819 8 ok S99
YR TR 79 BT P B A s Sy o1 d1fbe
wﬁmmﬁ%

YA

1)Waﬁ@ﬁﬂm%|

2) 79 7= ) &1

ey

) O et SRR g1

Il) $3 FIRFR 7= e 71

Consider the given statements to be true even if
they seem to be at variance from commonly
accepted facts and decide which of the following
logically follows from the given statements.

(a)

(@]

51.

52.

(a)

53.

(a)

54.

(a)
(@]

55.

Statements:

1) Some children are smart.

2) Some children are sportsmen.
Conclusions:

I) Some players are smart.

Il) Some smart kids are sportsmen.

FHad Y | SO (b)  HIA Y 11 SHTERT
FRATS | Only FRATg | Only
conclusion | follows conclusion Il follows.

| 3R 11 3 Frsee s (d) IS Py SrgeRo T8l
SfTERUT FHR1 5| Both | FAT 81 No conclusion
and Il follow. follows.

TH SR $I 2,78,000 ¥UY | 999 W, TH SIeR B
25% BT ATH §IT § | Tfe AT B TeThR 18% H foar
WY, | fasha ge ghm:

By selling a car for Rs.2,78,000, a dealer gains 25%.
If the profit is reduced to 18%, then the selling price
will be:

T 2,62,432 (b) I .2,65432
Rs.2,62,432 Rs.2,65,432
0 2,72,432 d) I .2,60432

Rs.2,72,432 Rs.2,60,432

A 3R B firae fohdft w1 &Y 50 fa=Y & qRT A= 9
1Ak A, B A 40% FH HA 8, A A 3PA BT FID
60% BT B fa= fe=i d r Hr apar 8 2

A and B together can do a piece of work in 50 days.
If A is 40% less efficient than B, in how many days
can A working alone complete 60% of the work?

70 (b)y 110

80 (d) 105

T W@ 2 : 3 : 5 F IFuTa | § 3R BT AYWH
YA 90 8 | 39T W.H.T. 1 BITTI

Three numbers are in the ratio of 2:3:5 and their
LCM is 90. Find their HCF.

9 by 1

6 d) 3

HIYRUT TS U Rs.640 S I 2 I8 A Rs.832 BT
ST | HTHTRUT TS Y WA & WX 4 9 § Rs.860
T g1 SITgem?

On simple interest a sum of Rs.640 becomes Rs.832
in 2 years. What will Rs.860 become in 4 years at the
same rate of simple interest?

Rs. 1,250 (b)
Rs.1,426 (d)

Rs.1,376
Rs.1,150

TF BT | 49 faenf¥ial &1 oftaa wR 39 fra 81 39/
|} 9T B et 3iva 99 40 fre &, Fam o
3 & 3R o Ta o1 ReT o o 54 fpe 2,
HEIT A M G AT § | B&T ST 741 31 qoi (o
o) F

The average weight of 49 students in a class is 39
kg. Seven of them whose average weight is 40 kg

Mob. - 7737404085, 8209244090
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56.

(a)
(@]

57.

(a)
(@]

58.

(@]

59.

(@]

60.

(a)
(@]

61.

(a)

(@]

62.

leave the class and other seven students whose
average weight is 54 kg join the class. What is the
new average weight (in kg) of the class?

41 (b) 39
42 (d) 40

TP gPMER 2,750 3ifhd U€t TX AR I ge dare
| &t 7€ ugelt ge 10% 31 ARG Ud uS & g
2,103.75 HT YITA BT g, A gl ge |12

A shopkeeper gives two successive discounts on a
watch marked 2,750. The first discount given is
10%. If the customer pays 2,103.75 for the watch,
then what is the second discount?

15% (b) 30%
12% (d) 10%

fafaRa g s A Ty 2, 3 iR s AU &2

Which of the following numbers are divisible by 2,
3 and 5?

5467760 (b)
2345760 (d)

o 1Y PQR &7 3id : ¥ B | afe BV POR = 140 f33ht
3, ol BT PQR T 3?

O is the incentre of the triangle PQR. If angle POR =
140 degree, then what is the angle PQR?

40 T8t 40 degree (b) 140 f&UT 140 degree
100 f&t 100 degree (d) 70 st 70 degree

1345678
2456732

ofe U qHaTg Bys @1 Yo 20 I g, @ ITST
RER LD R

If the side of an equilateral triangle is 20 cm, then
what is its area?

110V3 cm? (b)
200V3 cm? (d)

125v3 cm?
100V3 cm?

A 3R B B} aefHT 3T BT 3JUTd HURM: 2:3 31 5 94
TG, ST 3T BT 3JUT 3 : 4 81 S| IdH H B
ot 3y fai g ?

Ratio between the present ages of A and B is 2:3,
respectively. After 5 years, the ratio between their
ages will be 3: 4. What is B's age at present?

20 ¥ 20 years (b) 15 ay 15 years
1095 10 years (d) 25T¥25 years
AfuTITeTt S 1A §
Gifted children are
TN TERA AR (b) 3o ol & =
HIWR non-assertive of independent in their
their needs judgements
fRrarep! A T (d) FTTHIDE TR
independent of None of the above
teachers

fFrrufafEd & ¥ @19 91 B gRT YRdaTfdd safaid &1

(@]

63.

(a)

(@]

64.

(@]

65.

(a)

(@]

66.

Which of the following is not a structural element
of personality as proposed by Freud?

RGH Id (b)  URIEH Super ego
389 Ego (d) FTHI B T

None of the above

T yeue Rierd! @) te veayyf et 8 forw
T g e g & =Y Gl

Classroom management is an important
responsibility of teachers that entails three basic
functions, which are

e, Ueiem iR (b) UTGTTd], NREUUT 3R
EI'c{Qﬁ planning, fArare Curriculum,
managing and designing and
performing execution
BRIEEARREMEEIN (d) FE= geeE 3R
TAR planning, control U= controlling,

and communication managing and

performing

SFUBYT (A) : T8 TAER & a8 3R 3 IRIR &
T671-98 & Yeul 3R AridS! &1 diEa B

PRU (R) : TNAR Tl & FAGHSRU & fgdias
HRIT I
gl fawe gfaul
Assertion (A): Children learn ways of behaving and
values and norms of living in their family.
Reason (R): Family is a secondary agency of
socialization of children.
Choose the correct option.
(W) MR R ETTAT  (b)
3R (R) (A) BT e
ST § | Both (A) and
(R) are true and (R) is
the correct explanation

(A) 3R (R) ST HET &
b (R) (A) BT &
ReAT T8l 81 Both (A)
and (R) are true but (R)
is not the correct

of (A). explanation of (A).
(A) I3 g Af d (A 3R (R) T 3T
(RIST B (A) is true €1 Both (A) and (R) are
but (R) is false. false.
df g A T & YR W AfRIT BI
?;1 u%mﬁ Sy, afgdel i vayh § fawrfera
I

C.G. Jung has divided personality into introvert,
extrovert and ambivert among other types on the
basis of test.

g AT TR0 (b) TS Y THE0T
Word Association Test Thematic

Apperception Test
gRRfRufasT uRterom (d) TG YsaT URIEMTT Ink-
Situational Tests blot Test

1Q = AHRIS 3T (MA)/STATIHIHS 3T (CA) x 100
g g7 feae gr1 wfanfed fasar wam

IQ = Mental age (M.A.)/chronological age (C.A.) x
100 was propounded by

Mob. - 7737404085, 8209244090
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(a)
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67.

(a)
(@]

68.

(a)
(@]

69.

70.

(a)

71.

(a)

I Wmle-faT ()
Thd Revised Stanford-

e TR %l a8
X Minnesota paper

Binet Scale form board test
fS9-91HA Binet- d) TIPS TR
Simon None of the above
fRigres gr1 frurg 78 weagl yfer e
1. Rrgmeff & widere ok Femeat
I1. 3RATH & fere yafavr uerar
1. 3T T GAYR

What is the critical role played by a teacher
I. Observer and diagnostician of learner
Il. Provider of the environment for learning
1. Facilitator of learning

1 3R 11 1 and 11

&ad | Only | (b)
1,11, 3R, 11, and 111

11 SR 11 and 111 (d)
fpamoe srger Risia g wfvfea fsan
T AT
Operant Conditioning Theory was propounded by

Uradrd Pavlov (b) f&HTR Skinner
YMHSTEP Thorndike (d) PIBR Kohler

T fafRre g &t SRy srerman foras wregl, arert
IR FEal H T a1 eafy el F o e A
S EMe,_ FEudEEr R

A

is an impairment that negatively affects
communication through spoken language.

fSwifaTan Dyslexia (b) YT YRIRHRUT faBdR
Language Processing
Disorder

e HfETH (d) ==T UM YA Visual

S{&HT Non-verbal
Learning Disability

Rrgor SR ARER &1 F AR AT ST
Bl

Teaching learning materials should be selected
accordingto .

Hd &N HITB! (b)) TRI&0T b S the
SUAKIT their objectives of teaching
availability in

respective areas

! AT their cost  (d)

Motor Deficit

T A B ot 76

None of the above

fFrafafad & § S19-91 tF TURRE &1 9699 36T
quisy Hea1 82

Which one of the following statements best
describes Inclusion?

TRy b FE () TR B
T Ht g2 da Bt CElEARRIECACRISE]
TR IHA| It is the vuneR H A e
belief that some T A BT 3HABR

children cannot learn
at all.

Bl Itis the philosophy
that all children have a
right to get equal

72.

(a)

73.

(@]

74.

(a)

(@]

education in a regular
school system.

T TS RS B AT (o) U U fayr & fob =l
T SR & Ry B U arrrait &
JUER' B It is the IR ST ST ST

MR It is the belief
that children need to
be segregated
according to their
abilities.

fra & & #19-8 gRuEy ok 3 gyt &
et #t daifta #373 & g ga gurdt Iorifa
e

Which of the following is NOT an effective strategy
to address learners from disadvantaged and
deprived backgrounds?

philosophy that special
children are 'a special
gift of God'.

Eamﬁmgﬁaﬁ (b) ﬁraw’-&rfﬁmaﬁgz%r
Hipfad fawdayg faftra 1 gHmaw
ﬁﬂ'ﬁﬂﬁqﬁ?m MY Inclusion of
WGI'HTEH%’QI diverse methods of

School should be
carefully graded
cultural content in

teaching-learning.

textbooks.

ITh PIUA BTURIT  (d)  dfad fRenfial &t v
FRA & forg Faffea 3R I & ATEH ¥
Ty f&ar S =l g™ AMigU | Teaching

Stipulated time should
be given for testing
their skills.

through the language
and dialect of
underprivileged

learners

T ) T @ P o THTE 991 & forg, 399
QA o Rrares gRT =Y srumar st iR

To make children effective problem solvers, which
among the following should NOT be adopted by the
teacher?

STD PR S W (b) I wiw v
RR &l Giving o fyd X By
them rewards for good developing different
works language skills
AN YL AAS  (d)  BEI & U Bl
fore faw g e By WHR HRA & ol

e s By enabling

students to accept

developing them to
memorize fastly

demerits
R &1 qET IR &-
The main aim of education is-
YT SR $T fAd™ (b)) IS ARTRET BT
development of fa®bT development of
language skills social citizenship
fdaa & fder™ (d) TUS punishment

personality
development
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75.

76.

(a)

(@]

77.

78.

(a)

(@]

79.

(a)

80.

(a)

(@]

fFrafafaa & ¥ @19 gurdt Rieor &1 o1 98 82

Which of the following is not a quality of effective

teaching?

AHaAdrd! Democratic (b)  TeTIYfaqul
Sympathetic

THdag Autocratic CORCIERICE CEIRFAGI]
Desirable information
provider

Profofed & @ o1 @ yfier Pde TR A
RUCSE R

Which of the following is not a strength of role-
playing?
3Toie GRe- &I §g1aT  (b)
o % Promotes

lifelong learning

REFC R URE
e RId a1 &
Develops sympathetic
understanding

d@@UfAfpaIves  (d) e &I e & dgran
Cl % Provides o % Promotes rote
immediate feedback learning

o & faera & figid & DY TR H) HET AT 8

In Piaget's theory of development, the fourth stage
is called

Td fhaTdd AT (b) 3 AihaTeTd SRl
Concrete operation Formal operation
period period

Pre-operation period Sensori-motor period
9quT YT T UG I &:

Hearing impaired children exhibit:

YN ERIFIR AU (b) IRI 3R & H 1474
barriers in barriers in moving
communication by around

language

i Pl @-q@HE  (d) TR DI H S1UTE
@wﬁm%rrq barriers barriers in tactile skills
in individuals self-care

skills

Prafif@a & @ #17 aafera 1 frufe 78 2

Which of the following is not the determinant of
personality?

{TIARIHAl Heredity ~ (b)  TATARUT Environment
fRufa situation (d) TIR Communication

w9 Ry of@, &M R g @ Wua & @ 3
Frufafea # & few a4 814 32

Which of the following is not the determinant of
personality?

Td UfhaTdAd SaRT (b)  Ud Wftharerd SR
Heredity Environment
HaHS ST (d) SHd AlhaTHD AR
Situation Communication

(@]

82.

(a)

83.

(@]

84.

85.

(a)

(@]

86.

TReTee AAIATH & 999 UgE desd

Most prominent member of Gestalt Psychology

PC BIUPT Kurt Koffka  (b)  Ha IEHR Max

Wertheimer
T HlgTR d TI Al of these
Wolfgang Kohler

TEH PR B &1 b 30 T HGGI PR €,
ﬁa # ¥ frue! weltla ot &2
The ability to feel what others are feeling is referred
to as:

Sfdaafade el (b) SR JafaTds &
Interpersonal ability Intrapersonal ability
RING -l &HaT (d) Uil &
Bodily-kinesthetic Naturalistic ability
ability
fArawE ik ORE & srgaR Fafafaa & @ #i9 H@
AT TaATH el o1 faior Bt 82
I. UdTg
. sraffalRar
1. €edl
Iv. Wiferear

Which of the following abilities form creativity
according to Guilford and Torrance?

I. Fluency

Il. Interdependency

I1l. Persistency

IV. Originality
ILSIRVIL and IV (b) 1, 11, 1SRV I, 11, 111

and IV
I, 13RIV I, 11l and IV

YTT W & frd Trguriie Hivra & & & =1 A
L

What is known as receptive skill in language
learning?

LSRN, Hand Il (d)

ST 3R ferar (b) T AR ST

Speaking and writing Listening and speaking

UGl 3R feRa T Read  (d) AT 3R U Listen

and write and read

e o & e Rigror $t yRomg 9 H {2

Which of the following is/are the assumptions of

micro-teaching?

g Ueh dRd1deh &0 (b)  Tg SHiewe H Fgorar

81 Itis a real teaching. BRIESETGICIRL
ensures mastery in
learning

TEIR-FACAIRAI P (d) SWIGd GHt All of the

TR fpa S B It is above

carried under non-
complex environment.

g & f1-smanh Rigia & wioures o149 32
The profounder of the three-dimensional theory of
intelligence is:

Mob. - 7737404085, 8209244090
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(a)
(@]

87.

88.

(a)

(@]

89.

(a)

(@]

90.

IR Kohler (b) USSP Thorndike
St frawrs Jp (d) ?:ITCI"'h?\‘TﬁVygotsky
Guildford

YTYT YT B3 BT Ta! hH T 872

What is the correct sequence of acquiring a

language?

A1, ST, Ue, (b) foRgT, S, e,
feramn Listening, G-I writing, speaking,
speaking, reading, reading, listening
writing
1, U, fere, (d) ST, T, UG,
K] Listening, feramn speaking,
reading, writing, listening, reading,
speaking writing
P UGt UG, 2005 & IHIAR:
According to National Curriculum Framework (NCF)
2005;
T e BT HBIot  (b) IO FRiefor BT W TOr
SR RRIT 3R @ § ok ST
IR I AU I Ho UG &
ﬁR'Q’HT%I Narrow aim Narrow aim of
of teaching teaching mathematics

mathematics is to
teach numbers and
numbers concepts and
higher aims is to teach

is to teach precise
calculation and higher
aim to teach calculus

measuremets.

o g BT el (d) TG fRigr & apiof
Ie2g TET-gaeh I TIOIG HTST i
I faBRId BT [CEARNERGIRCIRS

3R IR LW TR I Ve
JHT-GHIYM BT Y (Meq-THRN) 5
ﬁwﬁw@mm% W%I Narrow aim of

The narrow aim of
teaching mathematics
is to develop
numeracy related skills
and the higher aim is
to develop problem-
solving skills

teaching mathematics
is to develop
mathematical
language and higher
aim is to solve word
problems

fFrafafaa & } S19 91 gordsar ST dd T8 82

Which of the following is not an element of

creativity?
TS Adjustment  (b)

FHETE e (d)

Solving problems

a1 3 Ry A
U@ ®=AT Changing
the thoughts of others
dreepTferes fRUfd 4 WX
S &1 I Ability
to go beyond the
current situations

Frafafea & & o19-9 fRufa el & eftrm ik

i &) gare s

(a)

91.

(a)
(@)

92.

(a)
(@]

93.

(a)

(@]

95.

(a)
(@]

Which of the following condition will facilitate
students’ learning and thinking?

ot ORI AT (b)
et faemef fAfswa gar

HI Creating situations
where students are

D B el #
HITGRY &1 gdleied
HRHAT| Discouraging
participation in

passive listeners. classroom discussion.

fRmi et s (o) ot o smaeie
¥ Ue W Tffar e &=
T & o wfasfed Providing students

AT Restricting
students to take
control over their own
learning.

4536 ¥YY B 4 THUI, 5 AfFansit 3R 2 ag®! A qier
4T 71 U qoY, U Afe SR TP ase & W &1
3UTA 7 : 4 : 3 §1 TS Hlgan &1 3w 3:

Rs 4536 is divided among 4 men, 5 women and 2
boys. The ratio of the shares of a man, a woman and
aboyis7:4:3. Awoman's part is:

with hands-on
activities.

324 ¥UY Rs. 324 (b) 168 ¥UY Rs. 168

224 ¥UY Rs. 224 (d) 336 ¥UYRs. 336

% ufd o1 e 35 T 31 11 feft St g v
H gg frda Iap Tmem?

A wheel has a radius of 35 cm. How many revolution
will it make to cover 11 km?

4800 (b)
5000 (d)

4990
5020

T AYyw & o fief & fFAd=iie (6, 3) SR (-1, 7) &
gﬁ?mmu 5) g1 99 I 3 &1 Fdzne

The coordinates of two vertices of a triangle are (6,
3) and (-1, 7) and its centroid is (1, 5). Then the
coordinate of third vertex is:

(2,5 (b)y (2 -5)

(-2, 5) (d) (-2 -5)

14 9} oI 91 TP 319 A &1 pa giia SFwa
L&

The total surface area of a solid hemisphere of
diameter 14 cm is:

348 IR (b) 442 TR
348 cm? 442 cm?

462 TR (d) 478 qHR
462 cm? 478 cm?

I U BT a (@ H) 7 8, Ryt g7 fawof
43 AW 2

The volume (in cm®) of a cube, whose principal
diagonal measures 43 cm, is:

8 (b) 27
64 (d) 125

Mob. - 7737404085, 8209244090

Page 9




YOUR INSTITUTE NAME WITH LOGO

96.

(a)

97.

(@]

99.

(@]

101.

(a)
(@]

102.

TP a&] & oI | 10% & U o 73 31 39
IRAfIS eI BI 98T H & A, A Ted | fhasit
yfa=ra gfs @t 9= afge?
The price of an article is reduced by 10%. To restore
its original price, how much percentage increase
must be done in new price?
10% gL o
(b) 117
o)
e 1149%
(d)

TP Afd TP ¢ BI 3ifbd T W 30% Pe W
Tiedr g 3% 39 3ifhd Yeu W 12% ATH R S=aT 8|
Y Yed TR AT gfa=rd

A person buys a shirt at 30% discount on the printed
price and sells it at 12% profit on the printed price.
Profit on cost price in percentage is:

42% (b) 48%

60% (d) 64%

afg "A' T ST &1 3/5, 3 o A W Hear g, ‘B I
PR B11/5, 4 A aRar g1 alR ISl v a1y
P B €, 9 3 ST PR & 1/2 B R A A fbaen
qHY A2
If 'A' completes 3/5 of a work in 3 days, ‘B’
completes 1/5 of the same work in 4 days. If both
of them work together, they complete 1/5 of that
work. How much time will it take to complete /2?
2v f&1 214 days (o) 2f&T2day
3v; f&F1 3% days d) 4fdT4days

3 gl 91 URAR # 8 § $H TP dSP gi° Bl
I RET %:
The probability that in a family of 3 children, there
will be at least one boys is:

1/2 (b)y 1/8

3/4 (d) 7/8

TS TR 7 6 T 5 TUL T WY 3R 5 TGE 6 U
H <Y1 Ay wierrd w82

A person bought 6 articles of Rs. 5 and sold 5
articles for Rs. 6. The profit percentage is:

20% (b) 30%

40% (d) 44%

10 3R 300 & &4 fora-t we=Te §, 1% 4 & fawfiea
HY U A 3 WY 54132

How many numbers lie between 10 and 300, which
leaves always remainder 3 when divided by 4?

73 (b) 71

68 (dy 72

frafafae & @ oF a1 snadia &u I Fuifva T
foar = W 32

Which of the following cannot be determined
graphically?

(a)
(@]

103.

(a)

104.

(a)
(@]

105.

(@]

106.

(@]

107.

(a)
(@]

108.

(a)

2100 sg. m.

(@]

2151 sg. m.

HI] Mean

sﬂﬁﬁaﬂgﬂﬁNone

of these

4/5 W@l § f5 A’ Ts ded ) e war g iR "B’
B 39 8 9 B fe S BT WiRkiwar 374 71 Al
I8 A ISP TP 9K e Hear 31 e 399 & Faa
TS B fge T B Wik g
The probability that ‘A’ hits a target is 4/5 and the
probability that '‘B' hits the same target is 3/4. If
each of them hits once. Then the probability of
hitting only one of them is:

3/5 (b)y 6/7

7/8 (d)y 7/20

gfe T quaTg Bys @ $urg Ve A 81 @ g
aam%:

If the altitude of an equilateral triangle is V6 cm.
Then its area is:

243 T2 23 cm? (b)
3v3 TR 3v3 cm? d)

12 3R 30 F FearguTdt 3R 9 AR 25 F WLATIUTAT
P 3T &
The ratio of third proportional to 12 and 30 and the
mean proportional between 9 and 25 is:

2:1 (b)y 4:3

5:1 (d) 15:7

gfg T Ui A & n UGl HTIRT5(20-1) §1 & A
3T 1 82

If the sum of n terms of a geometrical progression
is 5(2" - 1). then common ratio is:

172 (b) 2

1/3 (d)y 3

gfe 49 A x 33 AHY x 24 A AT & T1H & ¥4
T @8 & TP 319 chs I TP 19 A & &9 | grell
ST B, & M 31 Brea wa g2

If a solid piece of iron in the form of a cuboid of
dimensions 49 cm x 33 cm x 24 ¢cm is moulded to
form a solid sphere, then radius of the sphere is

21 9H1 21 cm (b) 233" 23 cm
25 JH 25 cm d) 199" 19 cm

TP TMBR WIe B T YT 150 HeX 31 @Wie &
3R, Yorsil & ary 3R 3.5 Wex NS uy &1 fHufor
a1 T B, Y 31 & FaT 37

A side of a square plot is 150 m. Inside the plot, 3.5
m wide path is constructed all around the side, the
area of the path is:

2100 9 Hiex (b) 2002 T Hex
2002 sg. m.
2151 ¥ Hiex (d) 2051 97 Hiex

2051 sg. m.

dgdd Mode (b)
HID Median (d)

22 T2 242 cm?
3V2 TR 3v2 cm?

Mob. - 7737404085, 8209244090
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100.

(a)

111.

(@]

112.

(a)

113.

(a)

114.

(a)
(@]

115.

(a)
(@]

116.

gfe wifereT 20 § SR yd® 3fips W 2 #t gfg #
STt &, o 7S AT T 82

If the median is 20 and each data is increased by 2,
then new median is:

22 (by 18

24 (dy 20

afe T agde & fawof te g
FAfGHIFT $ed &, d@t 9gY o

If the diagonals of a quadrilateral bisect one
another at right angles, then the quadrilateral is:

P FHPIT W)

BEREEHRE (b) FHAGYS Rhombus
Trapezium
JAAMR ag (d) S Rectangle

Parallelogram

64 cm? 3TIAH aTd &1 941 &1 T RR A g R a&
SireT T 21 <t afumd g @1 gty deed T @2
Two cubes each of volume 64 cm? are joined end to
end. Then the surface area of the resulting cuboid
is:
140 cm? (b)
160 cm? (d)

TS AT H 24 7S § T8 & x @11 §, 2x g & 3R 3x
Hieht e €1 v Ae o) arewsar g1 wirar 8, o a@re
9 81 P wiisar a1 82
A bag contains 24 balls of which x are red, 2x are
white and 3x are blue balls. A ball is selected at
random, the probability that is not red, is:

1/6 (b) 5/6

1/3 (d 273

148 cm?
176 cm?

98 UPHd Qe T &, Sl 10%, 20% 3R 25% B HiD
g SRR B2

The single discount, which is equal to three
successive discounts of 10 %, 20% and 25%, is:

49.6% (b) 46%
50.4% (d) 52%

TP BT H1 1 ¥ 100 dF T ST g1 39 U
YT =T B9 BT WiRdar o1 82

A number is taken from 1 to 100. What is the
probability of it being a prime number?

1/5 (b) 3/5

1/4 (d) 6/25

IGT 4x + 3y - 4 = 0 B YU &:
The slope of the line 4x + 3y - 4 = O is:

3/4 (b) -4/3
4/3 (d) -3/4

‘A" 3R 'B' TP BT &I 12 A A SR g 21 'B' 3R

‘¢ 15 AT A, '¢’ 3R "A" 20 & A 2 TP d €1 3P
‘A 3 BT B fpa faY & qof sym?

(@]

117.

(a)

118.

(a)

119.

(a)
(c)

120.

(a)
(@]

122.

(a)
(@]

123.

(a)

A’ and 'B’' can do a piece of work in 12 days. ‘B’ and
'C' can do in 15 days, 'C' and ‘A’ can do in 20 days.
How many days 'A’ alone will finish the same work?
30 (b) 20
60 (d) 40

TH AT IR T AP S NMUR P A@ 3:4F
SuTd § § 3R ST TS 2: 3 F U | g, @t
ITd TG PT AU T 82

The radii of the base of a cylinder and a cone are in
the ratio of 3 : 4 and their heights are in the ratio 2
: 3. Then the ratio of their volumes is:

1:2 b 9:8
3:4 d) 4:3
I PV ST HIY i) 39F P HT IR AT &

The measure of that angle which four times its
supplement is:

36° (b) 144°
155° (d 180°

6N AT Te WP v A 8 TN R Ra &
fig & Wit 715 vt Y &5t g @

The length of tangent, drawn from a point 8 cm
away from the center of a circle of radius 6 cm is:

N7 JH V7 cm (b) 2V7 IH 247 cm
377 Tt 347 cm d) 5V7 9" 5v7 cm

G TEUG 2x3 + (p + 2)x + (p - 2) DI (x - 2) ¥ fyuIfora
forar ST @ 3R oI 39 (x + 1) A fyvfora fvar sirar
8, Y W QUG BT ANT 0 BT 81 99 p BT UM &:

The sum of the remainders obtained when
polynomial 2x3 + (p + 2)x + (p - 2) is divided by (x -
2) and when it is divided by (x + 1) is 0. Then the
value of p is:

3 b -2
-4 d 6

gfe gga® 3R it & §te oiR 36 8, <t wiftieT
3R ATy & 9 3R FId B |

If the difference of mode and median is 36, then the
difference of median and mean is:

12 (b) 18
16 d) 22

TP 9gY & ATARE PN BT RIS 1620° gl
TEYT & YT DI TBAT 1 BIOTT |

If the sum of interior angles of a polygon is 1620°.
Then number of sides of the polygon is:

9 (b) 10
11 (d 12

gn-yn)aﬁ(x-y)ﬁﬁmw%mm%,?ﬁnmm

(x" - y") is divisible by (x - y) then the value of n is:
U I T (b) U favy de

Mob. - 7737404085, 8209244090
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an odd number

U YTl ST

a natural number

an even number
() TP U J=AT (d)
a prime number

124. TS wHfgag AYS &1 myRr 12 It 3R I
gmszﬁ%lwmﬁaﬁmmw
?
The base of an isosceles triangle 12 cm and its
perimetder is 32. Then the are of isosceles triangle:
(@) 42 JH242 cm? (b) 48 THI2 48 cm?
() 54 JH254 cm? (d) 60 THR 60 cm?

125. TP JUSIV YT ABC &, GUSIUI € W &, IfS tan A
=1 %,?ﬁsinAcosAWWW%’
In a right angled triangle ABC, right angle is at C, if
tan A = 1, then value of sin A cos A is:
@ 1 (b) N2
© 172 d 2

126. 8 QI Yo a1d a7 & TP HI4 A 1 A YT 914 TP
B Tt B F1e fur Sar 31 @ AW srpfa w1 ulRkwmg
T2
From one corner of a square of side 8 cm, a small
square of side 1 cm is cut off. Then the perimeter of
the remaining figure is:

(@) 289HI 28 cm (b)
(© 32¥HI32cm (d)

30 9"t 30 cm
34 9H1 34 cm

127. TP 9HAT Igys B 3 IHFIGR YO 60 Jft 3R
77 A § 3R 37 S YuITd 25 | 3R 26 A §, A
qUEs agys P A6 T 82
Two parallel sides of a trapezium are 60 cm and 77
cm and other two sides are 25 cm and 26 cm, then
area of the trapezium is:

@ 1620 9H21620cm2  (b)
() 1644 TH21644 cm2  (d)

128. Fufafea & @ o9 W 37 oe wiewo &
fFrafafaa gm & forg sa 82
aix+biy+ci1=0
ax+by+c=0
Which one of the following statements is false for
the following pair of linear equations?
aix+biy+ci=0
ax+by+c=0

1642 TR 1642 cm?
1648 T2 1648 cm?

o _bh _a a ;b
@ m "k CEE g @7 by
e T Furedt gt Xt U R B
iy _ b] _ 51 [:I aa§a a;il
If @ — B o, then the

a b
If @ 7 B2 then the lines will
intersect each other

lines will be coincident

m_ b a _bh ,a
© ™ BFa (@ I 2 B Tag
@ e S TS @M TR gt

ar
If @
will intersecting

129.

(@]

130.

131.

(a)
(@]

132.

(@]

133.

(a)
(@]

134.

by a_hya
b2 thenthe lines  If © P " < then the
lines will be parallel

afg fig A(-3, 9), B(a, b) 3T C(4, -5) W@ E 3N a +
<l a 3N b & UH AT 2

If the points A(-3, 9), B(a, b) and C(4, -5) are

collinear and a + b = 1, then the values of aand b

are:

a=2b=1 (b)

a=-2,b=1 (d)

a=2b=-1
a=-2,b=-1

wﬁ?a?aﬁvﬁmaﬂqmszsﬂ%la‘rﬁﬁa,
|

The angles of a triangle are in the ratio 5: 3 : 7. Then
triangle is:

TS AP AT an  (b) T 3B HIT ara

acute angled triangle ﬁ‘ﬂﬁf an obtused
angled triangle

T D10 Y a (d) U gHfgarg AYS an

right angled triangle

9% Bt A DI W& T 7 O 8788 HY URT A
TR U d TP YUl 8- g7
What is the smallest number by which 8788 must be
divided so that the quotient will be a perfect cube?
3 (b)y 4
5 d) 6

9% DI A B W= B At § R 680621 A SiigA
R ORT U qUf of 9 STt 82

What is the least number which is added to 680621
to make the sum a perfect square?

5 (b) 6
4 (d)y 8

YR A a 3 b Hiex F gt W 31 figal A wer erar
¥ M F ITa H0T sTH & Aeh Y@ A wRep §, @
TR B HATS 7T 2

The angle of elevation of the top of a tower from
two points at distance a and b metres from the base
and in the same straight line with it are
complementary, then height of the tower is:

isosceles triangle

Vab (b) 2Vab
ab (d) 1/4ab
frafafEa sifes! @1 a1y = 82
it CIECIEG]|
0-5 4
5-10 5
10-15 7
15-20 12
20-25 7
25-30 5

The mean of the following data is:
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Class Frequency
05 . 141. I} sec o + tan « = p B, T tan o T A T 87
If sec a + tan a = p, then the value of tan a is:
5-10 5 2 9 1
10-15 7 p 1 b —
15-20 12 @) 2p ) p?+1
20-25 7 % 21
25-30 5
2_
o Pl @ P
(@ 14 (b) 15
() 16 (d) 18 142. uﬁwmgﬂa%ﬁaﬁzgﬁtﬁsﬁﬂoﬁ%laa
. ; gy $T 9iRA™ fea=n
135. & 3{%-"5:?[ H=AT3H, X Gﬁ?'y (x%>7 y) BT dYTH If the diagonals of a rhombus are 24 cm and 10 cm.
:_:1 L IC M(X ; :’) bl 'FIF{ bt b dy( i Then the perimeter of the rhombus is:
e L.C.M. of two prime numbers, x and y (x > y) is
161. Then the value of (x - y) is: (@) 48cm @y 52 cm
@ 9 b) 13 (c) 56cm (d) 60cm
@ 15 (d) 16 143, %mmgﬂfﬂmmmmﬁm
Ry , Pgardi gl
136. g@'ﬁ\?ﬁ (4, 6) aﬁ;f(%7 ﬁ1) a’g 31;,@3 PY x- 31 A number, whose decimal expression is non-
in wh til 3t iTd th ‘ e th ints (4, 6) terminating, non-recurring, is called:
n what ratio is the segment joining the points (4, . :
and (-7, -1) divided by x-axis? Ea; Wﬁ z%‘;"”a' : EZ; %Wi'rri'ga'
. . C
@ 1 6 (b) 6 2 GHI Both rational and SURET Neither
(@ 2:6 (d) 6:1 irrational rational nor irrational
137, U® @A 14, 17, 34 3R 22 ¥ 4 f5w 81t A o1 184, TR a* = by = AT b2 = ac R, Ay PTAF TR
T P HETIT ST AR, A ABa IIﬁIIEil?f? If a* = bY = ¢ and b? = ac, then the
The least number must be subtracted from each of value of y is:
numbers 14, 17, 34 and 42, so that the remainders
may proportional, is: 2xz Lz
@ 2 (b) 3 (a) Tz (b) v
(© 5 (d) T2 32
138. k ¥ 59 A= ¥ forw e aiie=u e &1 Fi5 9 2c+z @ r+z
TATE B
(Bk+1x+3y-2=0 145. 7 I A= 919 T 99 | TS 91U FF W 108° BT
(2 +1x+(k-2)y-5=0 HIU SART TIaT 81 59 BuEs o1 &9%d &1 87
For what value of k the system of linear equations In a circle of radius 7 cm. an arc subtends an
?:Ij 201 ;OI:_“;O"' b o angle of 108° at the centre The are of the sector is:
X -2 =
(02 + x + (ky_ 2)y=5=0 (@) 43.23HR2 432 cm? (b) 442 YHPR 44.2 cm?
(© 452 9HR 452 cm? (d) 462 THR2 462 cm?
@ 1 (b) -1
© 2 (d) 6 146. ﬂﬁcose+sin6=\/2 cose%,?ﬁcose-sinea"lqﬁ
__ T §?
139. 0.001 roffdg g swm 2 If cos 6 + sin 8 = V2 cos 6, then the value of cos 6 -
e sin @ is:
What is the rational form of 0-001 2 @ 2tano () V2sin®
@@ 1/99 (b)  100/99 (© 2cot® (d) 2 cosec®
(¢ 1/999 (d)y 100/999
147. FafafEa o 3 o gfievo &1 o5 arafas ga
140. fdgaif (-4,7) 3R 2, -5) FFa B g F|ATR? T
The distance between the points (-4, 7) and (2, -5) Which of the following equations has no real root?
Is: @@ x-4x+32=0 (b) x+4x-32=0
(@) 5V63®E 5V6units (b)) V56 FBIS V56 units © x-dx-3v2=0 ) 3+ 4Bx+4=0
(© 4V53BR 45 units  (d)  6V5 IBTS 65 units
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148. 'Clﬁcote+ cos 0 = pé'ﬁ?cote-cose = q%,?ﬁ(pz-
q?) PTHA /T2
If cot ® + cos 6 = p and cot 0 - cos
0 = q, then the value of (p? - g?) is:

@ 2pq (b) 4pq
© 2Vpq d) 4Vpq

149. ABC ¥, ZA = 66°, ~B 3R £C ¥ 3id® GUGHUTES
0 W Hfasdg #3d &1 .BOC T WY FT 82
In AABC, £A = 66°, the internal bisectors
of «B and 2C intersect at O. The measure of ZBOC
is:
(@) 57° (b) 114°
() 123° (d) 130°

150. 39 A 99 AYS &1 &awa 1 s R T
g & sifera forar o wevar @ iR Rt B v
| 71
The area of the largest triangle can be inscribed in a
semicircle whose radius is r cm, is:
(@) 2r YHR2r cm? (b) rYHRR cm?
(€ 2rFHR2r2 cm? (d) r22 R /2 cm?
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